UP Police Mock Test-1

GENERAL KNOWLEDGE

ol Varghese Kurien wps named the
Chairman of the National Dairy
Development Board (NDDIY) I-:y

(A) Lal Bahadur Shastri
B) Gulrarilal Nanda
@I‘ndim Gandhi
(D V VGiri

» How many parts does the Indian

Q2
Constitution currently have?
(A) 15 (B) 20
(D) 30

@25

Q3  The Mughal emperor Jahangir built the

Shalimar Garden in :
(B) Baluchistan

(A) Delhi
(C) Oudh K ashmir
§ Q4 Theannual Indian Classical music festival
§ Sawai Gandharva Bhimsen Mahotsav is
held in A
@A) Pune (B) Mysuru
(C) Kanpur (D) Udaipur
Q5 Which among the following is the oldest
public sector bank in India?
(A) Bank of India
B) Bank of Baroda
@Allahabad Bank
(D) UCO Bank
Q6 Vedic civilisation flourished along the
river ?
(A) Godavari (B) Cauvery
(C) Krishna Saraswati
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Q7

Whiclr international organisation was
conceived in July 1944 gt the United
Nations Bretton Woods Conference?
(A) World Trade Organization

(B) United Nations International

Children’s Emergency Fund
(UNICEF)
(C) World Bank

International Monetary Fung

Q8  India’s first engine-less Speed train, Train-
18 was developed by the
Intergral Coach Factory,
(A) Chittaranjan (B) Patiala

Chennaij (D) Kapurthala

Q9  Indiasigned a $500 million deal with which
country in November 2018 to locally
manufacture two stealth fri gates?

(A) The United States of America

Russia

(C) Israel
(D) Japan

Q10 The Sardar Vallabhbhai Patel National

Police Academy (SVPNPA) is located near

@ Hyderabad  (B) Pune
(C) Bhopal (D) Chandigarh

Q11 The assembly of which Indian state was

dissolved in November 20187
(A) Himachal Pradesh
@ Jammu and Kashmir
(C) Uttarakhand
(D) Punjdb

QI2 The aorta begins at the top of the ;

(A) right ventricle (B) left ventricle
(C) right atrium leﬁatrium
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3 Galvanising meuns covoering steel with o

Ql
thin layer of
(A) Chromium Zinc
(©) Aluminium (D) Nickel
Ql4 C60 is a molecule that consists of 60

carbon atoms, arranged as

(A) 15 pentagons and 18 hexagons

(B) 18 pentagons and 15 hexagons
12 pentagons and 20 hexagons

(D) 20 pentagons and 12 hexagons

Q15 The best-quality hard coal that contains

Q16

Q17

Q18

80% to 95% carbon is
(A) peat (B) lignite

(C) bituminous nthracite

All of the following are condensation
polymers EXCEPT ;

@polycster (B) polypropylene
polyamide (D) polycarbonate
[ndian Institute of Technology, Kanpur,
with
designated asthe

has set up an office in

alumnus Sanjiv Khosla
overseas brand ambassador of the

B) London

@ New York
The Physical Efficiency Test for
recruitment of constable civil police by

Uttar Pradesh Police Recruitment and
Promotion Board requires male

institute.
(A) Dubai
(C) Singapore

candidates lo run 4
4.8 km in 25 minutes

(B) 3.8 km'in 25 minutes

(C) 4.8kmin35 minutes

(D) 3.8kmin33 minutes
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Q19 Who was sworn in as the Governor of

Uttar Pradesh on 22nd July, 20147
(A) Surya Pratap Shahi
(B) Brijesh Pathak

@ Ram Naik

(D) Ashutosh Tandon

Q20 Which Uttar Pradesh district is also known

as 'Pital Nagari'?
(A) Fatehpur
(B) Muzaffarnagar

;) Mirzapur
@ Moradabad

Q21 Atthe battle of Bahadurpur in 1658, Shah

Jahan's second son Shah Shuja was

defeated by Shah Jahan’s grandson .
Murad Baksh

(B) Sulaiman Shikoh

(C) Alam Shah

(D) Bahadur Shah

Q22 Firozabad has been producing

Q23

024

for more than 200 years.
(A) chikankari works
glass bangles

(C) brass locks

(D) zardozi embroidery

Which Kathak gharana focuses more on
the spiritual aspects of the dance form?
(A) Jaipur
(B) Banaras

Lucknow
(D) Bareilly

According to Hindu legend, the divine
king Rama of the Ramayana epic reigned
in Ayodhya, the capital of .

(A) Hastinapur

(B) Kuru

C) Kalinga

@. Kosala
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Q25 Which Indian has won t(he Nobel
Memorial Prize in Economijcs?
C.V. Ramuan
(B) Amartyn Sen
(C) Kailash Satyarthi
(D) Har Gobind Kharann

Q26 What is the title of the autdbiography
written by Indian boxer M.C. Mary Kom?
(A) Playingto Win
(B Unbrcakable
{C) No Holding Back
(D) Imperfect

Q27 Which film won the Best Popular Film

award at the 65 th National Film Awards?
Baahubali 2: 'The Conclusion

{B) Secret Superstar

(C) Jolly LLB2

(D) Hindi Medium

Q28 The 2018 Nobel Prize for Economic

T0as6d

Q29

Q30

Sciences was awarded to William D.
Nordhaus and Paul M. Romer, both of

whom are from 3
((A)) United States of America
B) United Kingdom

(C) Canada =
(D) Austraila

is the fraudulent act
of acquiring private and sensitive
information, such as credit card numbers,
personal identification, and account
usernames and passwords.
(A) Malware (B) Trojan

(C) Hacking Phishing

The Chitrakote Falls are situated in which

state of India?
(B) Uttarakhand

A) Jharkhand
@Chhanisgarh (D) Meghalaya

SERIES-D

Q25

026

Q27

Q28

Q29

Q30

Tt wreiver ) arebyir
e e 87 Haty A
(A) 4 W e

(H) a1 $197

(C) heny i

(D) wenfam e

UReT T TR, 89 A R fafer
BCHERT @ IYw aul 87

(A) =T 7 fa=

(B) sdaa

(C) ~if sifes 4w

(D) sHRGge

65 & WE fpeH yueawt ¥ frw e
A wide A ey qeeer i
(A) BTN 2 T Birge™

(B) Hihe YNER

(C) wifelt Tagardr 2

(B) T MfEgn

i fasTa @ g af 2018 @ A
g faferm <1 Atdety Ak die
I @t Far T o | A g

g et &)

(A) GgFT TG 3ARDI

(B) TEcs A

(C) &AL

(D) Ao
ot sl Haeadia SR,

SET-02

~



T0ased

Capital city of Venezuela is
(A) Nicosia (B) San Salvador
(C) Quito Cuaracns

Q31

Q32 India has the world's !au‘g'usl reserves off

which of the following radionctive metals?
Uranium (B) Radium
(C) Bismith (D) Thorium

Q33 Name the only island state of Australia.

(B) Ibiza
(D) Rhodes

(A) Capri

@ Tasmania
i

Q34 Which of the following cities is NOT

situated on the banks of the Godavari river?
(A) Nashik (B) Navsari
@ Nanded (D) Nizamabad

Q35 Who became the President of India after

the tenure of Neelam Sanjiva Reddy?
(A) Fakhruddin Ali Ahmed

(B) Varahagiri Venkata Giri

(C)) Giani Zail Singh

(D) Mohammad Hidayatullah

Q36 Name Chandragupta’s son, who reigned

Q37

Q33

between 298-272 BC and extended the
empire throughtout the whole of India.
(A) Harshavardhan

(B) Aniruddha

@Bindusara

(D) Vasudeva

The traditional dress worn by the women

of is called Mekhela Chador.
(A) Gujarat (B) Tamil Nadu

(C) Goa @ Assam

Rabindra Nath Tagore wrote the National
Anthem of which of the following
countries?

(A) China (B) Myanmar

(C) Bhutan @) Bangladesh
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Q39

Q40 -

Q42

Q43

Q44

Q45

Mhe Mallgg, Fdligiy M hfllllmlt
35 divigey by ”; Hmit " divisible by
A the PeMaingey
(S IS o

8
The Square roqgt of 6,56 scalculaled T
Number jg divided by its gy uare h
Find the result 1
(A) 3 9
(C) 27 (D) 8]
The diameter of a circle ig doubleq. By
how much does the Area increggen
(A) 2 times 4 timeg
(C) 8 times

X hag g balance of 286.54 in the bank

he balance after o
a withdrawa| of

358,52

(D) 358.58

deposit of 35531 ang
¥84.33 are maden
(A) 357.52
(C) ¥57.58

A number is multiplied by 3,003 and then
divided by the LCM of 7,11 and 13 apqg

then divided by itself. Find the result,
(A) 1 (B) 2

© 3 4

IF(10x +5) ; (42 + 8) is the triplicate ratio
for 5 : 8, find &*,

(A) 1,000 1,331

(C) 1,728 (D) 2,197

Find a quarter of 40% of the square of 40.
(A) 120 (B) 140

@160 (D) 180

T

RI(C ALABILITY

3913 9 fonpfiey B A1 gy

by 2};;‘”‘ IR Ry 3,
N4 B) 5
(©) ¢ ) 3
- ;E:G;nrﬁ iy m!'ﬁg"?' T T W
oy E;Ti:i:i? o e
(A) 3
4B g
g (D) g
Q41 ﬁﬁﬁrﬁﬂ}mﬁmmqml
ﬁﬁ:ﬁ 93 T
© S (D) 16
M2 X% ¥ ary 786,54 7 gy #2553
T F A 2433 o B
9 ¥R 2 gy
P21 By 1spss
(C) 757,58 (D) 25858
Q43 T wiEm oy 3,003 ¥ o1 Ry Ty e
D I T 7 49 aﬂiu%aqm
HH9a m&mﬁmmmﬁﬂ
W H el f T | SR s
Gad
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(A) 1,000 (B) 1,331
(©) 1,728 (D) 2,197
Q45 40T T B 40% BT IRITE 91T T B
(A) 120 (B) 140
12) 160 (D) 180
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Q46 Ifthe selling price is tripled, the profit goes
up ta § times, Find the profit.

(A) 80% @) 100%
(C) 125% (D) 150%

Q47 X buys a scooter for ¥42,{00. He spends
¥6.000 on repairs and sells the scooter far

T54,000. What is his gain?

(A) 10% 12.5%
() 15% (D) 17.5%

Q48 An- article costing ¥1'10'was sold for
T104.5. How much discounit was offered?

(A) 4% @) 5%
(©) 6% (D) 7%

Q49 A sum of money invested at E;JmpDLlﬂd
interest amounts to T1,600 in 2 years and
¥1,680 in 3 years. Find the rate of interest.

@ sn
(B) 6%

(C) 5.5%
(D) 6.5%

Q50 How much will ¥25,000 invested at
compound interest amount to in | year at
4% per annum compounded half yearly?
(A) T25,980 (B) 226,010
@?‘26,]00 (D) 26,001

-Q51 A begana business with ¥75,000, B joins

after sometime with ¥37,500. After how

""" "™ many months did B join if the profits are

Q52

shared in the ratio of 3 : 1 at the end of
the year?
(A) 4
@ 6
The marks of a student were entered as
88 instead of 68. Due to this, the average
marks of the class increased by 0.5. What
is the number of students in the class?
(A) 10 '®) 20
@ 30 (D) 40

(B) 5
(D) 7

Q406

Q49

Q50

Q52

(C) 6

afa faeh e @1 2 fan s, o om
5 A1 BY Giren & | el sl & |

(A) 80% (B) 100%

(C) 125% (D) 150%

X, 742,000 % U whew @Gl B | T8

Y 9 26,000 @F el € AR THe
I 754,000 § gTar & | IHHT AT T4

7
(A) 10% &8 12.5%
(©) 15% (D) 17.5%

T110 T aTell geb a%q T104.5 # 94T
w$ | fet B @ o1 T

(A) 4% ) 5%
(©) 6% (D) 7%

=gl = ¥ fAder By v ue @
M2 2 Tt # T1,600 av 3. 967 § 21,680

B g 2| &=y 8% I Y|

(X)) 5%
(B) 6%

(C) 5.5%
(D) 6.5%

ahgie @t Uy g 325,000 3wl
1 a9 ¥ argaiie 4% ufy 9 &) = A
g fasert & wel? @ #)

(A) T25,980 (B) 226,010

(C) 326,100 (D) 226,001

kl
.

QSIA T 275,000 B 1Y (% BRER T
' f&a1 | BB W99 & 912 237,000 @ TRr

I i gom) af af B s A 3 :
b IUTe H AT TS R o & &Y B
fa 789 T wnfaer gam o2

(A) 4 (B) 5
(D) 7

U BT P 3id 68 D Il 88 D WY §
&t fU.7TC o | 3 BrRoT, e @ sl
3 05 W qg ¢ | TN F wrH 9 W@
T 8?
(A) 10
(C) 30

(B) 20
(D) 40
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Q53 A istwice as efficient as B, who {8 thrice

as efﬁcifml as C. If C nlone can complete
the task in 30 days, then in how manyI:in
n they together complete the task? =
3 (B) 4
) 3 (D) 6

o

Q54 An aeroplane covers a certain distance at

Q55

a speed of 250 km/h in 4 hours. To cover
the same distance in 1 hour and 40
minutes, what should be its speed?
(A) 500 kmvh (B) 550 km/h
@ 600 km/h (D) 675 km/h

Excluding stoppages, & bus covers 45km
in an hour, and including stoppages, it
covers 36 km. For how many minutes does
the bus stop in an hour?

(A) 10 (B) 108 -

@ 12 (D) 12.5

Q56 The ratio of the length and breadth of 2

Q57

- (A ]

rectangleis 5: 6 and its area is 6,750 cm’
Find the ratio of the length 10 the area.of
the rectangle.
(A) 1:80

(€) 1:100

S (B) 1:84 -
@1:90

of the sum of digits of
numbcrdivisibla.by 11
digits of smallest 4-

Find the product
the smallest 4-digit
and the sum of the
digit number divisible by 13.
(B) 2
(D) 6

@4

Q53

Q54

A, B O g1 quia B, st B, C R Rrpmw
auia B | ufz sehd C o @ 30 R A
R HY Heen B, W@ 4 q@ we e
gmﬁwmﬂwmm
g
(C) 5

(B) 4
(D) 6

T gad oiET 250 km/h A TR H 4
o2 ¥ 1 PR g a w11 R
20 e A o€ g8 @) @ T &
audy wfy @ B°% =fEY?

(A) 500km/h, .- .(B) 550 km/h -, - -

§a) 600 km/h ..., (D) 673 kmh

Q55

Q56

ﬂﬁﬁwwﬁmmﬂwﬁ‘:.ﬁt
uﬁ1d€ﬁ45kmaﬂaﬂmimuﬁ
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36kmffuaﬂmth%|wtiéﬁﬂ
(A) 10 @) 10.8

() 12 (D) 12.5
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Q58 Which of the following series is built on

the same logic as :
GLK MO
X.Z B, D

F (B) X.Y.B.DE
(C) PS. U, V. W

(D) K, LN, QS

Q59 Fill the missing value in this series:
AIC, E4H, I9M, M16R,
A) 125K (B) Q25W
M36J (D) Q36X

Q60 Which pair in the options will complete
the following series:

As.F! K! ' U1
A) QY B) Q.2
© RY (D) RZ

Four friends live in a locality. A’s house is
to the west of B. B’s house is to the south
of C and C’s house is to the east of D. In
which direction is B’s house as to D7
(A) North-East  (B) South-East

(C) North-West (D) South-West

Q61

20aseq

Y walked 6 m west, turned right and
walked 8 m. What is the shortest distance
he needs to travel to go back to his starting

Q62

point?
(A) 6m
(C) 14m

Village A is to the west of Village B which
is to the south of Village C which is to the
west of Village D. In what direction is
illage A as to Village D?
North-East  (B) South-East
(C) North-West (D) South-West

Q63

Q64 X walked 15 m south, turned left 15 m
and tumed left and walked for 15 m. How

far and in which direction is he from the

starting position?
(A) 15m north 15m east
(C) 15msouth (D) 15m west
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o au Raca) #§ @ P W GET B
b P sfeaen @ e & e 87

G LK MO
(A) X.Z.B,D,F (B) X,Y,B,D,E

() RS, UV,W (D) K.L,N, QS

Q59

Qo2

Q63

Q64

59 e # e A A b
AIC, E4H, I9M, MI6R,

(A) 125K (B) Q25W

(C) M36) (D) Q36X

5o forapet 3 T g FAfoTRaT siaar
FT R HEN?

AFK, U

(A) QY ) Q.Z

(C)PY @ PZ

ﬂwa’rﬁwmﬁﬁﬁ%mwmﬂ
F u¥Em & BH ER CP < 7 3R

CH WD @3 & DABF R f&a
fogm 3 27
(8]«

(A) Sere—9d
(C) Sav—uf¥mw (D) =lévor—ufFas

Y, 6 m 9f=W & FEr, 3 ger R At

§ m gor| I oI g W amw
o B forn Swa 9= S @ Had

BT gff @ar 87
(A) 6m (B) 8m
(C) 14m (/13) 10m

T A, 7Tid BS a¥=m # 8, &) ma C &
SRT 8, W ma D& af¥EH H B e
D& et ma A feg feem # 82

(A) SeR-gd  (B) wRmr-gd

(C) SorR—uf¥=® (D) sféwor—ufem

X, 15 km =féyor # =e, 99 g7 AR 15
mWWWﬁ@TGﬁQWISmWI
e o Refy & fereit v ok f&w
feemr #§ 82

(A) ISmeR  (B) 15myd

(C) 15mafr (D) 15m gfR¥=m
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Q65

In the question one statement is given,
followed by two conelusions- | and 1.
You have to consider the statement to be
true even il seems W be wt varianee from
commonly known fncts. You have to
decide which of the given conclusions, if
any. follows from {110 given slatements.

Statement | @ No country is absolutely
self-dependent these days.

Conclusion I: It is impossible to grow and
produce all that a country needs.
Conclusion 1I: Countrymen in general
have become lazy.
(A) Only conclusion 1 follows
(B) Only conclusion II follows
(C) Both [ and II follow

@Neither I nor 11 follows

Q66 In the guestion one statement is given,

followed by two arguments, | and 2. You
have to consider the statement to be true
even if it seems 10 be at variance from
commonly known facts. You have to
decide which of the given arguments, if
any, supports the given statements.

Statement : Should new big industries be

started in Delhi?
Arguments | -No., itwilladd to thecity’s
pollution

Arguments 2: Yes, it will provide

__ employment opportunities.

(A) Only arguments | is strong
(B) Only arguments 2 is strong
Both arguments 1 and 2 are Strong

(D) Neither arguments | 00T 2 is strong

SERIES-D
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(65

Q66

el N um e S S qrE 2 frerd,
[l 1y g @ sogan g4 &I Lol
Al ET a, A By s s R T
wfrey et @ st wden g B | HU
aw wa w9 & fag :rqﬁfcﬁ'ﬂﬁ#
Fyrar Frepd, aft @ 8, &g Mg A

affe Feared Bl AHAA
Fr aragEFal el 8 |
ﬁﬁ‘fll:mﬁ'fﬂ?wﬂlﬂrﬁmﬁl
g R
(A)a‘:ﬂaﬁﬁﬁémgﬂwm%

(B) Wﬁmﬁnmma
(C) 13 mE R B
(D)ﬂa‘rlamaanagmwm%

mﬁqamﬂaﬂumﬁma’raaﬁ,l
aﬁvzmwﬁramﬁgﬂwaﬁ
wmm,ﬁawwmﬂ
srrﬁaw‘i-@rsraﬂuiﬂﬂa‘mmmﬂ
Hﬁﬁum?ﬁiﬁquaﬂﬁﬁ%
Mﬁ,ﬁaﬁﬁ.mmmﬂm

maﬂwaﬂaw‘al

W:mﬁﬁﬂﬁwaﬁmﬂgﬁ
fpg ot afee?

ﬁl:aﬁ.mmaﬁu@wﬁw

B

@ 2:ﬁ.uﬁﬂwm$mmw
T |

(A)fﬁaaaa%mm@%
(B)Wﬁah:m@
,(E)aa%laﬂna\?ﬁmigaﬁ
(D)ﬂaﬁaﬁlamaﬁaa‘-zw%
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Q67 In the question two statements are given,

b followed by three conclusions, I, Il and

HI. You have to consider the statement to
be true even if it scems to be ot varinnee
from commonly known facts. You have to

decide which of the given conclusions, if

any, supports the given statements.

Statement |; Many business offices are
locared in buildings having 2 to & floors,
Statement 2 : If a building has more than

Jfloors,nlhasahﬁ

Conclusion I: All floors maybe reached by
lifts. 2
Conclusion II: Only floors above the 3rd
floors have lifts
Conclusion III: 7th floors have Ilﬁs
(A) Only conclusion I follows
@ Only conclusion II follows
g (C) Only conclusion I1I. follows
b (D) All 3 follow

Q68 Which of the words CANNOT be formed
by the lett&a_'n‘s_ of the word
“FLAMBOYANT"?

(A) Lamb Bout

(C) Moan (D) Boat

Q69 . ‘Which of the following words has its letters
in an alphabetical order? ’
(A) Shade (B} Heart
Billow (D) Charge

70 Select the related word from the given

alternatives.
Deer : Fawn :: Horse : 7

@Lamb (B) Foal
(C) Calf "(D) Toad

ren

™

Q67 wwt A Q) ey affe aweb arg A Py,
1L 1Eafv (1 faw e B anust 56 Tus
o wew AT gy, A € T8 W AR
v Em et © ot ydver gyer )
SITIY AE Ty A 8 fay Ty Premt
A A T freed, afr # §, Ry 1y

P BT HTET B B |

YT 1 HY AAETAS FAETT 2 8
Aire aret wat o R )

ForT 2: IR AT waw & 3 wfvel & oy
T foge S &)

ﬁmﬁxmﬂﬂﬁrﬁﬁwwmqﬁ
W HEaT ® |

e I S ) ARt 3 Foe
aren) Hforell ¥ foge §)

red 1117 & wfrar ¥ fwe &)
(A) BT Prepd [ 3rgeor owar &
(B) Pt fAepd 11 ageRer Fver &
(C) @er st 111 Srgwor v &

(D) T o Pe 2

Q68 “FLAMBOYANT” 913 o iR g @
W W= B O T A o Ween &7
(A) Lamb (BY Bout
(C) Moan (D) Boat

Q69 -F=feiRen vt # ¥ fove wg B 3R’
Il quiErAr HTER §?
(A) Shade - (B) Heart
(C) Billow (D) Charge

Q70 fiy My faweat ¥ W wafda @ ghv)
favor - 77 BT Hier: ?
(AT AT (B) 9%
(C) TosT (D) 31§Y

i A
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Each one of the fo i
of pairs 1Ti‘ wunls,l::“I::::\‘:oulil‘\‘:;":‘:l:‘::\:i-a::
::;ch‘:;:: the pair in the gquestion.
(A) Heavy Rain: Drizzle
(B) Jog: Run
(C) Dive: Swim
Bounce - Gallop

Q71

Select the related letters from the given
alternatives.

EH: VS :MI:?
(A) 0Q

(C) QM

072

(B) NR
@)y~e
Find the alternative that can be amember

of the given group/class.
Lock, Block, Fasten
(A) Open (B) Window

(C) Shut _ (D) Door

Find the missirig Number:
R e (4. Y

?@)3,125

© 720

. Find the missing
the series and find the value
20, 22, 24, 26, X, 32,36, Y

(A) 62 (B) 64
(C) 66 @ 68

pair of the numbers th

Q73

Q74

(B) 625
(D) 2,500

pumbers (X and Y) in

Q75
of Y+X:

at would

Q76 Find the
fit into the patterm:

11,121,133 146 41, ?
(A) 161051 161050
(C) 160051 ) 160050

Q71 (@i (o
TN & uohm 4
el &
oMy

and 1y oy 8 uy

; R " Ay

MA@ e o [y m‘;q:

ok LT
HOTAT @ AN

) T a3 = T

(B) & : S

Q72 fay Wy Aot A A WG AR
EH:VS:'.'MJ:?'j '
(A) 0Q “(B) NR
(C) QM D) NQ

Q73 su o F =g a1 W KXW T
.-‘»W/aﬁmma’n
e, AP, FE EI
(A) Gel (B) fers
(C) &= ®) &¢

Q74 @ weE WE B
1,4,27,256, ___

(M) 3125
(C) 720

Q75 s ¥ g FEN (x ol Y) TR W
amwxzﬁmﬁmﬁl ;
20,22, 24,26, X, 32,36, Y

(B) 625
(D) 2,500

(A) 62 (B) 64
(C) 66 @) 68
Q76 -ﬂ@ﬁﬁﬁﬂﬁﬁﬁﬁfﬁrﬁﬁﬁhﬂﬁﬁ-.-
11,121,133 146 41,7
(A) 161051 ) 161050
(C) 160 051 (D) 160 050

SET-02
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Mental Aptitude, Q& Rcasnning Ability

Q77 A series is given, with one term missing, Q77 A m A 4 U WE gy ¥ fag
Choose the correct Option fram the given Frmmgy ¥ 9 Ifer

ones that will complete gl series, Py e 8 | s AR
ZBA. YDC. XFE, WHG, vy, » ZRA, YDC, XFE, Whg, vy, »
(A) KLU (B) Hn (A) KL (B) HUJ
(C) URS @ UILK (©) URS (B) ULK
Q78 A series is given, with one term missing, Q78 & T Ay 4 U 1 g 2 fay
Choose the correct option from the given et 4 @ T faaey 9T S sy

ones that will complete the serjes. B o e &y

EEEEEFFFFF, FEEEEFFFFE, EEEEEFFFFF, FEEEEFFFFE,
F‘FEEEFFFEE, FFFEEFFEEE FFEEEFFFEE, FFFEEFFERE

FFFF EFEEEE, ? FFFFEF EEEE, ?
(A) FFFFEEEE () EFFFFEEEEF (A) FFFFEEEE (B) EFFFFEEEEF
FFFFFEEEEE (D) FFFEFEFEEE ®) FFFFFEEEEE (D) FFFEFEFEEE
Q79 Aseries is given, with one number missing, Q79 =1 7 I ¥ v vy q@ 8| Ry g
Choose the correct Option from the given fawedt 3 9 Sfam fawsy T ) Soft
ones that will complete the serjes, &1 Yo v &)
4.5, -2.6, -0.7,2, 3.1 “4.5,-26,-0.7, 7 » 3.1
(A) 14 12 1A 14 (BT 12
3 ©) 1 ) 1.6 ©) 1 (D) 16
o
3 Q80  Ifthe 4th day of 2 month is Sunday,which Q80 Tfe fsell W1y =y e f& e @
of the following would be the 6th day N FEfmad F @ w R e e
before the 30th day of that month? T W 29 & g waT fis g
(A) Sunday (B) Tuesday (A) ¥far (B) #Terar
(© saturday (D) Friday (G =ty (D) Zprar
Q81 A series is given, with one term missing. Q81 U gofy &) 11? : o wﬁg@q 2
Choose the correct option from the given few g ﬁa%?q’r. ¥ s ERED]
ones that will complete the series. Al B pf &)
AlZ1,X3C3, E3V4, T9G7, ?
AlZ], X3C3, E3V4, T9G7, ? e H,QOR“ ) Rt
(A) H20RIl  (B) 27RI1 (4) 2 p
@ 127812 (D) H20S12 (©) 1278

' 8 ‘cotton
Q82 In a code language, 817 means ‘cotton Q82 bl @ HT:T 1128; 'imﬁmzf;f o
makes thread’, 827 means ‘thread makes makes thread’,

by (B) I
” ®B) | X
; (D) 7 s e
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certain code_ 5] OB
o ot e 1S Written P
FATE is wrinten 45 2685 :T:““ QB3 &) fadm ae & S1L.OB @ 4379 o
ks W oIS

-. I"w‘ritlun in that code? is TR B Al FATE &Y 2685 Teren Sl
\. 7539 (B) 5626 B g0 me A LOFT da faran s
) 1728 (D) 2091

Q84 lfir_1 a iiurtnin code langunage, *+ represents Q84 i .
"o L= represe VY s =1 gy He 1Yl it ) WETE
P =nts S+ * represents* 4. " FAT g [ if] “_{ﬂ.a Ei;‘{ﬂ‘l & ;c-
3 - L) o] ] L]

and * + " represents *-'. Find
to the following quEstio:‘ out the answer P T R R AR G,
16 +8x4-24 =9 Wﬁﬂﬂ:{mmﬁmﬁtﬁmmmw
] m .
Ggi EEB)} f; 16 +sxl4-z+\=?
) (A) 22 (B) 27
€y 16 (D) 13
5 IfH -
Q8 : Ol.:iDAY is Coded as ELIFAXYV, then Q85 af® HOLIDAY T ELIFAXV & w4 ¥
ow will SUM be coded as? wﬁmm%ﬁsumaﬁm
PRJ (B) EHK Feag fhar wng?
- & LOR (D) SVY LAY PRI (B) EHK
(C) LOR (D) SVY

; Q86 If A @ B means A is the son of Q86 AZ A@BaT 2 & fn A, BH AT,

g B, A# B means A is the brother of B and if AHBF e & 5 A, B TR B A
g A * B means A is the mother of B, then * R A*Bm At RfN A BRI AR A
what does X # Y @ Z * W mean, if Z has X4Y@zZ*We an af 2 afg 23 2
2 sons and one daughter? #2 3R @ 9 27
((A) W is the sister of X I WX H T R
(B) W is the brother of X (B) W, X @1 #§ @
(C) W is the son of X C) WX AT
(D) W is the daughter of X (D) W, X @ T &
Q87 IfP % Q means P is the fatherof Q,P1Q Q87 P% Q& i 2 @& B, Q= W 1.3
means P is the sister Q and P * Q means P pi Qi el & fis P,QaY wE 8 AR
is the daughter of Q, then which of the prQw o & f5 RQ# TA R
following shows that P is the husband of Rrerferfae # ¥ 71 e & 5 S A
S’s sister? T P 9 87
(A) P*Q%R!S(B) P%Q!R*®S (A) P*Q%R!S(;l P';/uQ‘-*R;‘SS
) P*Q!R%S(D) P% Q*R!S (C) P*QIR%S @) P% Q*R!

Q88 K+ L& @l f, e W A P IR

i I h sband’S son- i
Q88 K said to L, “You are my hy & ¥ A" LK ¥ e a8 i &7

in-law’s daughter.” How is L related to K?

L is the granddaughter of K i 1; H:?r Hg‘ﬂs
(B) L is the daughter of K ((3 L, gl "
(C) Listhe son-in-law of K vk mai‘:li%

is the father of K
(D) L isthe Fo SET02
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~ 1

TOaS6d

=

3 Inacerain code S

and FATE is v B i wrig
5 Nt i Chng
LOFT written :h;.:n a5 2GRS, “(:3-”_9
(A) 7539 {;}udw v s
3728 5626
© (1) 209)

084 Ifinacertain cade lang

b e Uage 4

x "= representg f4 - glc, L Tepresentg
mpl"ESemsc{_,

id - = 3 reprnes tt
i} sents - ﬂ'ld Out the an
I Swer

1o the followin 2 Quest
TIE PRI nrad

A) 22
: (B) 27

© s (D) 13

Q85 IFHOLIDAY is coded as £ ippxy, 4
» then

how will SUM be coded g5
PRJ (B) EHK
(C) LOR (D) svy

Q36 If A @ B means A is the son of

B, A# B means A is the brother of B and if
A * B means A is the mother of B, then
what does X # Y @ Z * W mean, if Z has
2 sons and one daughter?

@ W is the sister of X

(B) W isthe brother of X

(C) W isthesonof X

(D) W is the daughter of X

Q87 IfP% QmeansPis the father of Q, P1Q

Q88 Ksaidto L,

means P is the sister Q and P * Q means P
is the daughter of Q, then which of the
following shows that P is the husband of

S’s sister?
(A) P*Q
(C) P*Q!R%S@P%Q

«you are my husband’s son-
» How is L related to K?

%R!S (B) P%Q!R"S
*R!S

in-law’s daughter.
L is the granddaughter ofK

(B) L is the daughter of K
(C) Listhe son-ig-law of K
(D) Listhe father of K

SERIES-D

QBY  Pneh fupy 7, sLOB 71 4379 T

ST & oAby pATE w2685 feran STl
B g age W LoPT A feran ST
(A) 7539 (B) 5626
S2) 3728 (D) 2091

Q34 REeit ey oz s 3+ " 3 IR

17

TN G, -, g e
' PR T R SN e, @
YT BT 7 | Pl w1 9w
) )

16  8x4-241=2

{A) 22 (By 27

£ 16 (D) 13

Q85 @fe HOLIDAY %' ELIFAXV ® w9 #

Tedg S &, o SUM @ 3
FEaEg har Sme?

LAT PRI (B) EHK

(C) LOR (D) SVY

Q86 ufe A@B@r aed & f6 A, B oy 4T B,
g A#BS af & 5 A, Ba1 WE & AR
gz A*BETuet 2 5 A, BA Hi &,
X4Y@Z*Waraarsed 8 afk 2% 2

a4 3 TE A A7

KA W, X @t 989

(B) W, X & vig 8

(C) W, X1 7= &

(D) W, X ¢ &

P% Q@ af 3 6 pQa e &
p1Qa ud & f5 P, Q& q& B AT
p*Qar et & 5 RQA YA B)
Prefafas § & o7 gufa @ R B,S @

T5q @1 ufer &7
(A) P¥*Q%R!S (B) P%Q!R"S
() P*QIR%S () P% Q*R!S

K3 L9 @8 &, g ¢ ofey & T
33 B LK ¥ fat e i &7

L, K@ A ®
(B) LK ®g@e
(C) L,K @1 T
(D) LK @1

Q87

QB8

SET-02



(A) E ‘ '
) | (B) BF
(C) B  ([@)cs

" fogures?

(A) (% (B)
969 » ©

Q91 A lady participated a six-month

programme to lose weight. She weighed

100 kg before starting the programme. The

line graph shows her weight in kg at the

end of each month. In how many months

did she gain weight instead of losing as
compared to the previous month?

20as6d

; 9 g 8 n 2
K
3
T IR - ; 3}
End of month
A) | (B) 3

g: o
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Q90

Qo1

’Ili”\}n 'l’I R h I ﬁ \HLNT qil ai,'l ”l
q}"/‘“} | 'EIT \*“H.\' GO 1”'?(“”1 ‘bi Eﬂiil

B an :-J'lrhrl-.\‘f'ﬂrtl i

(A) E

© & (7 o

ﬁwﬁﬁgﬁﬁﬁﬂﬁqmﬁﬂ P
g

NEFIVT ity iy SPRIAT B dra o

ﬁu?ﬁ‘fﬁa‘ﬂmwmﬁ?

Q
W) ®

U W F avr B A B forg
T & T s # A R # | dm
%aﬂﬁﬁmmfmﬁ lOng
o1 ¥ SR el 7 i 3 kg
W SHd Ao 1 ferarar ) Rree 7
B G A Ry T A T aom

1 Hﬁ:’* RG] ‘1‘
@ | ik
© 2 R



zoased

QQE The b{ll‘ Era h

Q94

Q95

P shn\‘a. l-r[ qzﬁ
VISItOTS to .y, § the ngmy, ! = & fafv= =12

XUy o 3 oof ARE
the week. T SLITET dify ooy 092 AR sk ¥

" Creng g Rt r L 3 i @) -{Rﬁﬂﬂﬂ feraral
Saturday wyg | "Mhbep s of diuetan 1 iy

ol " i ¢ V‘ﬁi\l\ru un gl ‘v!lf-'fﬂFi a‘h mqgjﬁ Zﬁl #@] gﬁn‘:z
VISItOrs on ll'“lsdu}- by e Numbey of & ; & A ety 0o
—— e W
im0 <

(A) 300 (B) 200
£y 60 (D} 50

hours ang ltem B takeq Q93 @we = T Swm o AEEH A

INg a lathe ﬁmmﬁlzﬁé-&a%mm

Drilling ti e , CHER G gt
_ B Time for Item 4 5 less than the T AD fog :
drilling time for ltem B by % T Miged BS g @ ae Ry
S|
AW g % AT ¥

(A) 25 (B) 66.67
(A) 25 (B) 66.67
(C) 39.39 (D) 100 e ® e
j i H W IE I T § e ¥
Which word does NOT belong with the Q94 i
others? : (2) :‘:: ([(?)]) ¥
(A) Run Sleep (©)
(C) Jog (D) Walk
i famedt § & R R o)
Find the odd letters from the given Q95 ETKM finis
alternatives. o G ©) HG (D) SRQ
((:) LKM (
(C) IHG (D) SRQ

19
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Q9 Choose the figure which is different from Q9% ¥ AEHRT B T Y g angfadl &

the rest. el & |
e 06 (ORCNS e 0e Qe e
®O D DD O

(A) R Qe o )]
ceonel” loee "”e@em*@gg
© 6 O QDO Do o o ® o

@Eeq(mhme o 608 m,|@0e
22D ©ee ) lo e o ees

Q97 Choose the figure which is different from Q97 T IER B g O D SHRAET B

the rest. e |
HaQ Yyl [xaQvy Ha v] [xayY
N I X Z S H
. (A) (B) N I X Z SH
Os8s 2z N O | (AJOSZ(B)NOI
g XTz] [asx XTz| [@asx
N
i o|Nas|glron o [NQs| |YonN
HYO | HZ HY © I 2
Q98 Scl'ect the related word from the given Q98 fRU WU fadmeul ¥ Wl = &1 Taq
alternatives. Girdl
Gun : Bullets :: Torch : ? Tgp : Al s T ?
A) Fire | (A) 3T
Batteries (B Gkl
(C) Darkness (C) TR
(D) Candle (D) A

Q99 Select the related number from the given Q99 fey 7y famedt & wafta wear g7
1253 :5:: 146414 : 7

alternatives.

125.3:5::14641.4: 7 (A) 11
(A) 11 (B) 6
(B)6 (€) 4
(C) 4 (D) 14
(D) 14
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Q100 From the given ANswe
er flgures, selec ¥
one in whichthcquemmti,tlrus. selectthe Q100 & 7 SR sngfi § &, 99 @ @1

embedded, fgure is hidden/ ¥ T RRE e g ffa 3

<

vl
X

*) ol
R

(5|

(B) :

|

m ﬁ
(D)
(D)

Q101 Which answer figure will complete the Q101 ¥ ¥ =R ATHhy w7 Py 4 di
pattern in the question figure? B g HE?

g \® D' "‘"“’ @

21
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Q102 Which of the following answer figure

patterns can be combined o make the
question figure?

FoEgm

w B BHH

Q103 Which of the following cubes in the

answer figure CANNOT be made on the
basis of the unfolded cube in the question

figure?

3
%'-_ O

%

[r———

R
(A) == ®) I

=0 (F1o
oo~

Read the following information to
answer the given (Q104 to Q106)

questions.
Following are the conditions for becoming

a judge in a singing contest TV show.
A) The person should have won at least

one award in singing or music.
B) The person should have worked in

the music industry for at least 10 years.

SERIES-D
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Q102 F=ifsifaa 4 A B @ SR PR B

ﬂE#iﬁTWim‘Tﬁami‘liﬁfﬁQﬁﬁa

I e 87

(A)B:'a:li"ta

@ BB &
o BE BB

13_ 0]
(D)B o g e

Q103 S arrepfer # fara & BT we Aph |

B BY B & AMR W A6 SEm Wl
AT 27

¥
H-|oH
-EE -
>3
@ [10] @ 2%
== ——
© | o Hlo O

fZw My (Q104 ¥ Q106) WLAT F Twa¥
o @& fag Fsfafea aFsR 9k

TH @ gfaafar & &1 @ o & 99
T &y FreforRad od €1
A) g g1 iy § 79 W 5

U GREHN T §T
B) @i A i @ &3 & oA | P
10 I% TF P BT B
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@ The person shoul
[

D) aSU3 langingey,. b ble 1 ypeak

e |
e mplne‘rhfm Should pe willing 1o
e SASL 0%, of his/he
ne me 1o the Contegy Winne s
: . 5 f ol
Lh) The persop shoylg NO
than 35 yearg and nejtp
70 years, -4

However, in ¢ 2
+HLease cand
other criteria EXCEPl#meWhO fulfils al)
NB . =
tl-?is ::?: s person does NQTT fulfil
kept on ot e RIS application
€pt on holg, 10N wil| be

T bea ymngﬂ
be older than

if' the
of his annual jne e " 12 donated 0%

en he j
S €18 exempted from this
i._)l liE!Fla.bm'he; i»f‘ the person dogs NOT full
;1 t |§ crlten_a but fulfils a|| othercriteria
then his application Will be kept on hold,

Basefl on these criteria and information
provided below, decide the course of

action in each case. You are NOT to
assume anything,

Q104 Person A is 40 years old and is willing 1o

donate 10% of his annual income to the
contest winner, He has won 3 awards in
his 15 years of experience in the music
industry and can speak in Hindi and
English only.
(A) Made a judge
\@ NOT made a judge

) Application kept on hold

(D) Data inadequate

Q105 Person B is willing to donate 5% of his

annual income to fhe contest winner. He
has worked in the music "deS_tW for 30
years since he entered it in his teenage

‘days. He can speak in Hindi, English,

Tamil and his mother fongue. ﬂe hTé
donated I7 lakh for flood relief in iﬁ
when his annual income was T12 lakh.

(A) Madeajudg®

dge
NOT made a)U
:g; Applicatinn kept on hold

@Data inadequate

SFRIES-D
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c1] T TR T T T 7 I 111 A 1 s |
al

D) eftks ¢y ay-N wifdes s 1 &9
+H |10% wieenfasr & faowen & 29 &
fore tur g wifae)

E) afdq &1 amg 35 ad 4 &% 32 70
94 9 arftres T8 B =fRT |

T, SHE BISH IfE BE I=EAN
= W wrTESt B qul Fen ¥

1) B SwRaw; ufg =ofR g1 arest &
quf & SNl & ol 99D AEeT o [
< fore w@r amest

2) D SuvrRT; gfe @fda - A9+ Siiga@mer
W UF g W agh affd ST FT 50%
T A fREm & A1 99 W W g o4
ST |

3) E 9ydiew, afy aafda 39 o @ qof
T R B 9y g IR @ gof
FAT & T FEe e fuw & R
TGN A |

A Ry 10 37 amee e arer @
YR 9¢ U@ "ol H e o Fofk

@1 o Bme A A g S WA Ad
H |

Q104 aifde A, 40 af &1 &, @e wiefer &

faorn & Al afds g @ 10% 9
T FEA &1 I=E T Sam W
I 15 981 B A I 3 RESR I
AR Faa fE afr ool A d s ¥ )
LK) S T

B) T 7 TR WY

(C) 3dea w faer fovar Wiy

(D) ofide IS §

Q105 afét BT vRuifal & R @1 sl

i 1 BT 5% T I B TS €
IR R Rreivazen # wiia Sa #
WY T D a8 A A 30 N aD DM
fpay & | v Y, 3l afa ol TN
T ¥ A AR EeRd 8| T 2016
321 e wEa & fae 27 wRa T fau
qm;ﬂaﬁ\a—mmuzwaﬂl
(A)mmmm

(B) T A 4l
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Q106 =fdr C =1 wfier Iei § arg= 25997 T

Q106 Person C has won 5 awards in her 25 years
of experience in the music industry. She arEprd A § YWER oA # 1 SEE uwy
had donated her entire annual income in e @ fere ad 2017 4 sifka s h o
2017 for earthquake reliet. She is uent grfiies S <=1 9 4) | 98 3{doN, sy
in English, Frengh and Hindi. aify, &Y W areafera dra wad 8
Made a judge G 5 I i L 2 L 1 B
(B) NOT made a judge (B) wiw F 99147 WY
(C) am¥e W faaw fHam W
(D) Sifps saaa &

(C) Application kept on hold

(D) Data inadequate
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QU0% What is the minimum number of lines Q109 # ¢ B T B Ry
required to make thg given image? it &

(A) 12 (B) 15 (A) 12 (B) 15
©) 14 ®l3 Q) 14 gpj 13
Q110 Ifa mirror is placeqd

g on the line MN, th
which of the answ 2

Q110 IfE g gdvj 1 Y& MN 9% @1 7147 8,
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QI11 A piece of paper is folded and punched as Q1 Wi Wi # A R IR TR B
shown below in the question figures. From TS B Wiee 3R Yo R T |
the given answer figures, indicate how it

T SRR AR @, S W B
will appear when opened. e W R g e R |

tiE I COREE
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2 N A 28
T rl B N 4
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Q112 Arrange the following words as per their
order in an English dictionary and choose
the one that comes first,
refocus; refinery; reflexes; reflector

(A) refocus refinery
(C) reflector (D) reﬂ.exes

Q113 A series is given, with one word missing.
Choose the correct option from the given

ones that will complete the series.
Terrain, Intuitive, Yenture, Rearrange, ?

(A) Gender @Vlmla!
(C) Strategy (D) Suspense

Q112 Fr=fafEd oY &7 U V=S &
FAEN W AN IH W B g o
HaE U YT

refocus; refinery; reflexes; reflector
(A) refocus (B’i refinery
(C) reflector (D) reflexes

Q113 € 74 #of # v v g g1 Ry 71y
famedl 4 & sfaa fwes giw ar S

&Y quF Fwel B |
Terrain, Intuitive, Venture, Rearrange, 7

(A) Gender (B) Virtual
(C) Strategy (D) Suspense
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